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24U H2|[2HQ) =200,000m3/Y, FLA22(V) =18,000m?

ZEH|0f| 2|5t SHAA4(T10/T) = 0.6
A2HAEE =0.8mg/L, pH=8.0, £2 =0.5T
Hexe|7|1& CT 74
HHO[2HA A|OtC|OFRE L (4~2 0.57)
=243 d=
, 2lo HA pH=8.0
25 (o) oot se Log 224318
D (mg/L) |05 1.0 1.5 2.0 2.5 3.0
05 5 45 <04 |46 92 139 185 231 277
3 4 30 0.6 |48 95 143 191 238 286
5 3 > 0.8 |49 98 148 197 246 295
1.0 |51 101 152 203 253 304
15 2 15 1.2 |52 104 157 209 261 313
gg 1 171 1.4 |54 107 161 214 268 321
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AlZteH | 02 2-4 4-6

6-8 810 | 10-12 | 12-14 | 14-16 | 16-18 | 18-20 | 20-22 | 22-24
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